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 There will be 4 Short Answer Questions; 
 you answer 3 of them.

You must do #1 and #2, then pick between 
    #3 and #4.  

There are 3 parts to each SAQ: A, B, and C.  

Each part is worth 1 point. 

Label your answers A)  B)  and C) 

You don’t need a thesis statement, but you must write in sentences.

Provide specific examples and the significance of each example*.

You must write ONLY INSIDE THE BOX that is provided for that question. 
 
* “The increase in the number of factories was one social change during the Industrial Revolution because it led to people moving from farms to cities to go work in the factories.  This created a large urban poor class.
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